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  Assumptions in the Study of Costs
· Limited Market Economy

· Firms use factors of production to produce goods and services

· Goal of firms is to maximize profit

· Realities of the short run influence long run decisions

· Economists take explicit (cash) costs and implicit (opportunity costs) into account when measuring profit

· Economic Costs = explicit costs + implicit costs

· Economic Profit = Total revenue- Economic costs
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Short Run Costs and Production versus Long Run Costs and Production
Too Brief to alter plant capacity

Allows for plant expansion of contraction

“fixed- plant” time



“variable plant time”

economies & diseconomies  of scale

all costs are variable

Short Run Production Relationships

The relationship between maximum physical output and quantity of capital and labor used in the production process is known as the production function. It is a technological relationship between inputs and outputs
Average Physical Product, Total Physical Product, Marginal Physical Product
p. 538

APP

TPP

MPP

Helpful Website

http://Ingrimayne.saintjoe.edu/econ/TheFirm/ProductionFunct.html
Law of Diminishing (Marginal) Returns (based on Thomas Malthus)

· Usually applies to the amount of additional labor , but can involve any factor of production

· 2 factors of production are held constant, while one is variable

· As one factor increases the average productivity will eventually decline

· Prevents firms from hiring non- stop

· Only applies in the short run

· Used to make long run decisions

Example- If a corporate farm only has 25 tractors for farming and has 30 employees, only 25 will be able to use the tractors, the other 5 will have to use manual labor.  This will decrease the marginal physical product and average physical product even though the total physical product may continue to increase
Types of Costs

Total Fixed Costs- costs that do not vary with output

Total Variable Costs- costs that vary with the rate of production

Average Fixed Costs = total fixed costs divided by the # of units produced

Average Variable Costs= total of variable costs divided by the # of units produced

Average Total Costs= total costs divided by the # of units produced

Marginal Costs= change in total costs due to a change in production of one unit
Use the textbook to master how to graph and interpret the following curves

TFC, TVC, AFC, AVC, ATC, MC, MPP, TPP, APP

Tying the knot between costs and productivity

· When MPP increases, then MC decreases and when MPP decreases, then MC increases

· When MC is less than ATC and AVC, the latter two are declining

· When MC is greater than ATC and AVC, the latter two are increasing.

· MC= ATC and AVC at their respective minimum points

Web review

http://www.cameron.edu/~abduls/ECONII%20ONL/MNKPPT/chap12/sld068.htm
Practice Questions

http://employees.oneonta.edu/beckei/Recent%20Exam%20Questions%20from%20Chap6.html
Long Run Costs- All factors of production are variable



     Suppliers have had time to fully adjust to changes in demand




     Typically related to the number of plants a firm owns



     THERE ARE NO FIXED COSTS
Curve analysis on page 549 and 551

Economies of Scale- Decreases in long run average costs resulting from increases in output.

Reasons
1. specialization

2. Dimensional Factor- large scale capital goods do to not need to increase as production increases
3. Improvements in technology and efficiency

Constant Returns to Scale- No change in long run average costs when output increases.

Diseconomies of Scale- Increases in long run average costs that occur as output increases.
Reasons
1. Efficiency of labor

2. Efficiency of Management

Assignment:  Corny Kernel of Truth Story
 Economic Profit
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Accounting Costs (Explicit Only)
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